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In which of the following years was
Kurukshetra University established?

[A] 1956
[B] 1966
[C] 1947
[D] 1989

E] Unattempted

Which is the second largest site
of Harappan civilization after
Mohenjodaro?

[A] Banawali

[B] Rakhigarhi
[C] Dakshakheda
[D] Mittathal

[E] Unattempted

Punishments relating to accidents
are laid down under Section of
the M. V. Act.

[A] 190(2)

[B] 191

IC] 179(2)

(D] 187

|E] Unattempted

List the types of documents used in
RTO office while registering a vehicle,

[A] Marital certificate

[B] Passport

[C] Forms 20-22A of CMV rules
[D] None of the above

[E] Unattempted

T-5/5-C

1. ﬁﬂﬁﬂmaﬂﬁ?mwﬂ'ﬂmq o

i gy,
g 7

IC] 1947
ID] 1989
(E] 3rrnfaa

2. W%WMMWW?QWm‘

FH-T R?
(A] =R
B[ e
[C] z&@w
(D] firmere
[E] arrnfia

5Lt
O

3. gHenad | daifem wonsii @ 33w, de am

sffFam S gs 3§ e g
AT 190(2)

[B] 191

[C] 179(2)

D] 187

(E]  3nenfaa

4. foed aigA & ‘T-Sﬂﬂs_ri T WHY, RO @il

RECC L TR o DI R ene—
[A)  <anfew wy RE!
(B] ey
VT MV framii 3 i 20-22A
D] 39w 5 @ o EEA
[E]  stenfag
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5.

6.

The full form of LMV is
|[A] Light Motor Vehicle
[B] Low Motor Vehicle
[C] Light Meter Vehicle
[D] None of the above

[E] Unattempted

Road safety involves
[A] the design of roads and highways

[B] laws pertaining to traffic and
vehicles

[C] systems of traffic safety and
control

[D] All of the above

(E] Unattempted

Pedestrians should always cross the
road using _____ crossing.

|A] zebra

[B] side road

[C] main road

D] footpath

[E] Unattempted

In order to improve the learning of
children admitted in the appropriate

age classes and bring them to’the
level of their classmates, there 1s a

provision of

[A] remedial teaching
B] special training

'C] multi-grade teaching
‘D] All of the above

M Unattempted

5. LMV % |y ¥4 2

YA} Light Motor Vehicle

[B] Low Motor Vehicle
[C] Light Meter Vehicle

[E) st O

. HSH gen § wite /%

[A] =gi va Temm @ fese
[B] 7% wa arew et fam
[C] eiftems weam wd Fepemn womferat
[ueT] v wh

[E] srnfa

7. TAEEl B WEQ __ wianm w5 YA W

WIS TN FA =10
AT SE
[B] uradi @3%
IC] =2 8s%
(D] g™

[E] snwnfea

. 3uge g 1 3 el &=l & Fferm ¥ geR w6

R 32 I gRefddl & 'R W el ¥ fau
TEYH 2

[A] STERTEH e

(B] faste ufwigor &

[C]| wedt-Ue fmam &
Yol swiw @

(£} snrifae
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Uy,
| 9. NEP 2020 T AR qur 1,
9. What will be the age of Early (ECCE) % fo1e 38 7 g7 !
Childhood Care and Education
(ECCE) in NEP 20207 AT 3-6
[A] 3-6 years B] 2-6Fd
[B] 2-6 years [C] 4-7 =4
C] 4-7 years
[C] y 3-8 7§
[D] 3-8 years
[E] Unattempted . (E]
10. In a School Management Committee 10. T ¥el HEYA A " II”“"*‘-
(SMC), the % of the actual parents will 1 A 1 gfowa mite gm
comprise of at least
[A] 50
[A] 50 B
0] B] 75
(B] 75 Gk _
[ 85 “eT> 85
[D] None of the above D] 35w & & #rd Rl
[E] Unattempted [E] sty
11. The number of working days in an 11. % 417 % fo ws BLE C R R ——
academic year for class-3 are 2
[A] 225 [A] 225
[B] 250 \UBT" 250
[C] 200 IC] 200
(O] 220 D] 220
Unattempted
H ple [E] s
12, According to » “Teaching j 12, - g 31 TE
form of inte crsonal’s 8 _IS a e a’; 313{:"{, ﬂ]&m’l‘ TR _\-:a-_:’:f
rp lnﬂuencc aimed g '% ﬁm fr A SAIET
at changing the behavioyr Potentia] of ELAS foefl o =fir ) =
another person » A B FEem 2l
[A] B.D. Smith, (Al 9o &, fiygy
B] N.L.g
age -qu mo ﬁ-\ﬁ
IC] H.c. Morrison yeT o
® Hlo Ui
(D] Edmund Freuqd D .
[E) Unaltcmpted ] e
T-5/5.C E]  sroafyy
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13.

14.

According to the recommendations of
NCF 2005, technology could be
integrated

|A] with  the
processes
Programmes

larger
of

goals and
Educational

[B] with revisions to meet current
developmental policies of the
Central Government

[C] as an add-on

educational goals

to the main

[D] used only judiciously subject to

the economic and social goals of
a community

[E] Unattempted

Which of the following is an example of
a formative assessment?

[A] A final exam at the end of the
semester

[B] A pop quiz given at the beginning
of class

[C] A student-led presentation on a
topic

[D] A standardized test administered by
the State

[E] Unattempted

13.

14.

EEI
=

o
15.

NCF 2005, & a3l 1 sigam darfrh
% vy fem @ w@m &

Hufors FriFH & w8 @ 0@ gEn
&9y

(B] ¥ wwR $ FAwA fawams A
® [ =4 & fo 7ol & Amg

vl gon dufers ol & ara & & =9 8

D] e wgerm & sfdw i wmnfas s
# adia faae 7% & Iwm zm

[E] smwafam

frafafas § 8§ ¥R-7, @S WHEH @
o T k7

[A] &2 (Bumd) & 3 & yadl ol

= § ypam 4 @ 0f o fEy
wwrad

el @ frm @ o ol A smand § v
[D] TR g wfEn UF wESFA i
[E] wwféa

TAMR 1042 Bl TIUHH F 42N I R 0%
0 GIETER HEA

15. The current 10+2 school curriculum is
1o be replaced by a new R
5 icular structure ‘
[A] 5+3+3+4 curricu Bl 203300 8 2
[B] 2+3+3+4 curricular structure .
| [C] 5+4+3+3 % gM
[C] 5+4+3+3 curricular structure
T5¢242+4 & Zm
D] 5424244 curricular structure HDT
[E) smafaa
11 Unattempted
TL“;S"C ' ‘
e —
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16.

17.

18.

19.

Join Telegram Group "HaryanadJobs.in"

‘Teaching’ word is derived from which
word?

[A] Thought

[B] To Teach

[C] Trench

[D] None of the above
[E] Unattempted

The minimum number of working
hours per week for a teacher is

|A] 50
(B] 42
[C] 45
[D] 40
[E] Unattempted

Which Section of the Right of Children
to Free and Compulsory Education
Act, 2009 deals with the duties of
local authority?

[A] Section 12 of the Right of
Children to Free and Compulsory
Education Act 2009

[B] Section 9 of the Right of Children
to Free and Compulsory
Education Act 2009

[C] Section 14 of the Right of
Children to Free and Compulsory
Education Act 2009

[D] Section 20 of the Right of
Children to Free and Compulsory
Education Act 2009

[E] Unattempted

Teaching is the profession of those

who give instruction especially in a/f
an

[A] Elementary level
[B] Secondary level
[C] University level

[D] All of the above

[E] Unattempted

T-5/5-C

T

16. W'mﬁmmﬂﬂﬁﬁwﬁ?

A fam
[B]] WA % R

] =
D) 3w &3 =i T

[E] v

17. v foares & forg wfa wTE < w62 9

[A] 50
[B] 42
[C) 45
BT 40
[E] s

OF10
%’hﬂﬁamqﬁmmm,

2009 ) F3-H um, B witem & w4
AREfAR?

(A] w6 R v s R s,
2009 #1 g 12

B[] w=it i (3.9 @ wfrard fren afifm,

2009 € um 9

[C] == Q.3 va aifaard fan wiftfm,
2009 i g 14

[D) %=1 Fit f3.3jew va wifvard famn wfafm,
2009 § gm 20

[E] Fwafiq

19. oo 3 Sl @ e £ ) fdw e @ Ao A

[A] s =R w
[B] e ww w
[C] Frafaemer ¥ w
VD] 37w o

[E] wwafm
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20. What is the difference between an 20. UF wREW U9 FEEAT F 0 F7 AA 27

impairment and a disability?

[A] An impairment is a physical or
mental condition, while
disability is a social construct

[B] An impairment is a temporary
condition, while disability is
permanent

[C] An  impairment affects an
individual’s daily activities,
while disability does not

[D] An impairment is  caused by

external factors, while disability
is caused by internal factors

[E] Unattempted

21, What are the three dimensions of
mental health that schools should

address?

[A] Curative, preventive and promotive
[B] Academic, social and emotional
[C] Physical, cognitive and emotional
[D] Reactive, proactive and supportive

[E] Unattempted

22. Which of the following is an example
of a curative intervention for mental

health?
1di dents with
[A] Providing studen W
opportunities for physical exercise
i
[B] Implementing posIve behaviou
support strategics
[C] Offering individual or group
therapy
[D] Educating students opn mental
health awareness

[F] Unattempted

T-5/5.C

wifrEm v Wit g wAfEs FaEl
3, wafs smudm vw amfas @ R

By wifrEm uw s @ R, dw&
spawda w2

[c] wfwm o =fE & dwam/2RE
wfafafird @ mafad s 2, Safn i
7 = 2

[D] wfwe wm Fs ) T9E /A R,
wafe FEHLA HANS FEH & FOV

[E] swaifaa

. wHaE @R % FA- d s & R w5

= wafum w afee?

[B] ufors, s @ wiaw=H
[C] i, HTeF Ud MTEATEE
b whifwanita, wfe @ awes
[E] srafea

3@. frfafes § @ #h-m s @a & foe
h?ﬁ U IYINIEE EEALT &1 I R

(A] ol = wiifes sam % HaE 92 F5

[B] FEREF SRR awda oHifaEl w1 e
F1A]

=i @ v fafean € v o

) wEfa wmmes srmem w o 7 ol
N
[E] swafaq
|P.T.O.
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23. Most abundant component of air is 23, 91g & wad fagel wew 2

[A] oxygen [A] Wi

[B] hydrogen B) ¥ISETAA

IC] argon ] s

[D] nitrogen @]’mm

[E] Unattempted E] T
24, ?h:c?::: :: d‘iﬁ;ﬂfi ;Ln;u::;;l‘:; r:; 24, wgyee # waR frad = fFed AW g

exist, is called aofta woft wige €, wEerm Ry

|A] thermosphere [A] g agEEA

|Bl mesosphere B] mmgrrsa

[C) stratosphere c] @ e

[D] troposphere S

[E] Unattempted E s

25. Which of the following can be, threat 2 : .
to the hiﬂdl\'ﬂl’ﬁ“}f of a gl':ﬂg'rﬂphical 25. ﬁﬂﬁ‘ff{ﬂﬂﬂ ﬂﬁi{_ lﬁfTTFﬁHi & if] #a fﬂf'clwl".

area? & fow a0 @ wwa @7
L. Global warming bﬂ’/m?ﬁﬂ
Il. Fragmentation of habitat . I, 3am & g

llL. Invasion of alien species

. faeeh wafimt &1 angam
IV, THER | wan

. . K AN
IV. Promotion of vegetardanism

Sclect the eorrect answer using the

codes given below : 13 Fom, e 1wl w1 g
Codes : Fe -
Al L Il and 11 ‘H’ (R T
[B] 1l and 111 1B] 1wy
IC] land |V [C] | 3k v
[D] Al of the above D] i mb
l[E]  Unattempted €] wwafan
o ::::'}cr:‘::l:i 1'::111:1111; h:::i:;::l 1111.;1[::“:}:: 26 '.ﬂm 3E'T:'il"1- e 1 j.T-iml- SERU A
global temperature rise well below TR 914 G5 fean dra sfifgy o, qrfww
[A] 5 degree Celsius VAT 5 ferh i
(Bl 4 degree Celsius B] 4 Pt Afequy
IC} 3 degree Celsius [C] 3 fei &fmay

D 2 depree Celsius 2 foih afman
El Unattemnte ] Wt
| nattempted [E] wwarms

T-5/5C
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27. which of the followin

first one to establish g
removal?

B Cities was the
System of wagte

[A] Athens
[B] Lahore
[C] Paris
[D] London
[E] Unattempted
28. To know w!ml climate was like in the
far past, scientists most often use

[A] thermometer readings

fi
thousands of years ago om

[B] natural records such as tree
rings and ice cores
IC] computer models of the past

[D] written records from thousands of
years ago

[E] Unattempted
29. More than 70% of world’s fresh water
is contained in
[A] Polar ice
[B] Greenland
[C] Antarctica
[D] Glaciers and Mountains
[E] Unattempted
30. The temperature range in which most

organisms perform their biological
activities is called

|A] bio-kinetic zone
[B] biotic temperature
iC] adiabatic temperature
D] polvtropic process

[E] Unattempted

5/5.C

27. Fafafem § A fm mem 3 aed wd smfe
wA § v A w7

[A)] w=
[B] #me
\ef thm
[D] &=
[E] s
28. §R ¥ A weER & @ T S o
e wad sfus femm wm w6 7
[A] wami wve orA form ety a9 gg
B st fratd 4R 3 % B3 ot v
[C] ¥t & wger whea
(D] wari a9l = fafaa fatd
[E] s
29, ram?ma%sr&mﬂmm_ﬂmﬁa
1
| vl
Sy o1 den
[C] sreréfem
W 3 wda
[E] wwariia
30. ax amwm &, fredl wfrem fm o s
nfafafirai & &, wwamm 2
¥ wAes i
wA8] dfas amwm
[C] fexre amm=
D] wiERTRw shFn
[E] s

9 | P.T.O.
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31. Development of soil from parent rock
is termed as

|[A] Edaphic factor
[B] Pedogenesis

[C] Edaphotropism
[D] Edaphic climax

[E] Unattempted

32. What is the disadvantage of non-
renewable energy sources?

[A] Limited availability
[B] Cheap and abundant
| e
[C] Environmentally friendly E!?.’,{s
D] Low greenhouse gas

[E] Unattempted

33. Which country is known as the “Land
of Thousand Lakes"?

[A] Finland
[B] Ireland
[C] lceland
[D] New Zealand

[E] Unattempted

34. Which poet (author) has called Sahibe
Diwan, the tea collector in Haryana,
as ‘Musahib'?

[A] Tulsidas
[B] Surdas

[C] Amir Khusro
D] Mir

[E] Unattempted

T-5/5-C 10

ORI

[A] wdF® FRF

] e

[C] &3 (Edaphotropism)
(D] wdfes e

[B] s

32. M-adiwia 331 A f wf 7= A
L] fifa svereumm

[B] & 3w

[C] watam & g

(D] e N w1 w9 T

[E] wwafea
33. 6% 2a % “wam el B R & w9 F T
T 7
[A] B=etE
[B] sty
[C) syt
U phicke
|E] wwafém

34, O A R @ w3 A e A @)
feon wha (dhas) 3 gef’ wm 47

(Al g
(B] g
ueT snfi el
(D]

[E] Rwaifim
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UL
35. Match List—I and Ligt—py :
List—I

List—J1
o) ReoTula Ram i) ppirq)
{b} Sadruddm ﬂu Farmkhnagar

fc) Nawab Ahmed Alj (i) Mewat
(d) Birasat Ali (i) Kharkhoda
Select the correct ang
code given below :

(Al (a}(ii), (b)-fiy), (c)-(i), (d}-fii)
[B] (a}-(i), (b)-fi), (c}-(5i), (d}-fiv)
[Cl (@k6i), (b)), (c)- i), (d}-fiv)
(D] (a}-6ii), (b)-(i), fe)-(iv), (dp fii)
[E] Unattempted

wer using the

36. Which name has been given after

changing the name of State Vigilance
Bureau in Haryana?

[A] Anti-Theft Bureau
[B]
(€]
[D]
€]
Which medal did Aman Sehrawat win

at the Zagreb QOpen Wrestling
Championship?

[A] Gold medal
[B] Silver medal
€]
D]
(E]

Anti-Corruption Bureau
Anti-Drugs Bureau
Anti-Defence Bureau

Unattempted

37.

Bronze medal
All of the above

Unattempted

38, When did ‘Swachh Haryana = Swachh
Bharat Abhiyan' start?

[A] 1st November, 2014
B8]
]
D]

JL‘:]

1st December, 2014
1st October, 2014
1st September, 2014
Unattempted

T5/5.C

11

35, qefl—1 vd qh—11 3 it o -
=1 qei—I1
(a) TR AR (i) W
(b) sl (i) FFETR
fc) Tare mﬁj T
(d) Fama weh fiv) GTEE
e fow gz & weem @ wh 3w R
IA] () i), (b} (iv), (c}0), (d)-fii)
[B] fa)fii). (b}fi), (c) (i), (d}fiv)
(Sl Ta)-fi), (ok (i, () fii), (d)-fiv)
(D] fapfi), (BFf), fc}-(iv), (d}-fiii)
[E] wufea
36. i i "z v o w1 m wEw W
foem mn &7
(A] -t g
B] w-wam ag
[C] -z
[D) tA-fe%aemm
[E] wwafea

37. 3R gErEd 3 W ¥iE wiEm S
# #¥1-m 9E e ?

[A] = e
[B] A w®
Je] = weE
[D] 3% ™
[E] swnfza

38. ‘T WRa - W@ WA R A PR
w7

ia] 17, 2014
(B] 1 fewe, 2014
[C] 1 ¥R, 2014
[D] 1 famag, 2014
[E] st
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39. In which month, the festival of
Gangour is celebrated?

|A] January-February
[B] March-April
[C] May-June
D] June-July
[E] Unattempted
40. Which State is situated to the South of
Haryana?
[A] UttarPradesh
IB] Rajasthan
[C] Punjab '
[D] Gujarat
[E] Unattempted

41. In which of the following districts of

Haryana, Chinkara Breeding Centre
is located?

[A] Sirsa A
B Karnal e
IC] Ambala o

(D] Bhiwani
[E] Unattempted

42. Match List—I and List—II :

List—I List—II
fa) Shri Manohar Lal i) Minister of
Health
i) Dushyant {ii) Minister of
Chautala Excise &
Taxation
fc) Anil Vij (iti) Minister of
Finance

(d) Kamlesh Dhanda  fiv) Minister of

Woman & Child
Develapment

Select the correct answer using the
code given below :

[A] fa)-fri) (b} (i), fe)-(i), {cd}frv)

(B! fa)-(is) B}0), {c)-in). (dF-fiv)

(C] fak(i). (BFG). (c)-@). (d)-fiv)

D) fak{i) (B0 () fiv), (d) (i)

[} Unattempted

T-5/5.C 12

FIMERD R Ry

39. Tt & ®TER fER T A A e b
[A] wFEl-waf
(B] ®rE-d
[C) w43
o’ g3
[E] wwarfea
40. ¥fwmn ¥ =fgm § #-m T 2w ke
(A] 3w g
B! Traeam
] vama
[D] T¥m
[E] snwnfaa

@R f= & 7 ghaen & fem a8, e g
Fzfn iy

AT famm
[B] wa

[C] ¥umen
D] frarh
|E] stefim

42. {h—1 vd gh—11 ) wiferm el -
1 git—I
fa) *h wdm ara. fi) vewen wf
(b) 7Ta-a Aewen . ‘.111 fii) INTE Y vd
\ EEUHE e
(c) ¥h= faa F;"fi; fam

(d) FAMTD. i) wfeen od wa
ey
am feu w2 1 weme & wH 3 o9
HT";I:!} (iti), (b)-f), fc)-0) (d}fre)
(Bl (a)-fus), (b)), (c) M), (d] fiv)
€] faFn), (b)fin), (c)-fit), (d)fru)
(D] fa)-fu), (b)), (e} (iv), (d)- i)
[E] swartes
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P

43, The Chairman of
service Commission

the
[A) President

e State Public
1S appointed by

[B) Prime Minister
|C] Chief Minister
(D] Governor

[E| Unattempted

24, In which of the following districts of

Haryana, National Research Centre on
Equines is located?

[A) Kurukshetra
[B] Panipat

[C] Rohtak

[D] Hisar

|[E] Unattempted

15, Where will the world's largest Herbal
Park be established?

[A] Morni

[B] Pinjore

[C] Churpur

D] None of the above !'iJFL'!]
(ibed:

[E] Unattempted
46, Who was the first Sufi Saint of

Haryana?

[A] Shekh Farid
(B] Shekh Usman
C] Shekh Jamal
DI Shekh Muhammad Turk

[F] Unattempted
L3 :ISC

13

43, T A F A & s ) A
LRl
(B] s
[c] Feweh
o

[E] wwafaa

44, 1o 4 8 wigm & fom fad @ wwE o
R &7 A f7
(A] 3@
[B] wrvA
] e

o e

[E] swafem

—

(48. fova @1 gem wdm s ol W e R?
LA] wE
[B] fiah

IC] T
(D] 3% & wf T
[E) wwaita
46, ¥ Fva gl g E¥R 47
AT 3 i

[B] #@ IWA

[C] ¥ WA
D) 1 g 6

[E] waifed
|P.T.O.
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47. In Haryana, which department has 47, ¥ 4 frm fvm 3 wiga meR g
launched the ‘Integrated Health T qFa At fem e
Information Platform’ portal?

. (A} fam fasm
|A] Finance Department
[B] Central Mental Department (Bl e i R
[C] NITI Aayog (c] fa smam
[D] Health Department yp[" @z fram
[E] Unattempted [E] i

48. Haryana  Mukhyamantri  Parivar gfeamon q afan ggfE A (MMPS
Samriddhi Yojana (MMPSY), 2023 0. Y

2023
[A] provides financial assistance of
¥6,000 pes: i AT !6.0:0 wfa ad wfds wema wem
4T
[B] provides a loan upto 260,000 at & bSl
: ygfam wfwi & ofmnd #1 5% @fés
5% interest rate per annum to SC (Bl
families oA 2R ¥6,000 7% & B WEH T
IC] provides interest free home loans ?
to EWS and abandoned/ [C] wnfd® &9 & Swain vd wfmrs 41 3w
orphaned children w=i S A = 9EE A
D] None of the above D] ol & & % =
[E] Unattempted |
[E] swafEa
49. Under Haryana Government Welfare
Scheme, Rewari is " 'Eﬂg' R WER & wewwn A aEa T
[A] home for aged and destitute %{% @’i@ 3 Fweri ¥ forg fram
[B] home for orphans [B] ¥t & fer framm
[C] home for widows (€] fwmsii & foo £
[D) home for wictims of domestic " : .
violence (D] = fbw & faeew & difydt % foro framm
[E] Unattempted [E] swafim
50. The description of which city is found 50. WEME & ‘T RfErvan vinks 4 By weow
in the ttle ‘Nakula Digvijayam’ of VR TR B 47
Mahabharata?
[A] Sirsa 1A}
[B] Fatehabad [B] Wi
[C] Narnaul [C] Tt
[D] Rohtak ]|t
[E] Unattempted [E] warfaa

T-5/5-C 14
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B

on (Q. Nos. 51-53):
::::fthcfﬂ are two hla’nk s?:cll:ml;z?u
¢ac sentence, SOMe pairs of words u.;'c i :JW
€ hich are numbered [A], [B], [C], D] angnén
pick out the mMOsL appropriate pair to nE s
ine planks in t!"lt‘-' same order, to makl Illn
ﬂnlcﬂ“ meaningfully complete : © e

s1. Many of us who ____ rational-emotiv
therapy are tense, angr v
depressed. By or

[A] seck, often
(B] follow, scarcely

[C] perform, usually

practice, frequently

[E] Unattempted

(=] (=]

oo,

52. Education is to the cconomicts?nri iz
social fabric of the nation, but that

few political parties have made it an
election issue.

qﬁr,emincnt. barring

[B] concomitant, instead of

[C] basic, despite

[D] | rudimentary. besides

[E] Unattempted

nd development in our
interrelated bul s
cpt‘nd on a change
1 thinking.

53. Disarmament a
time are
development Wi Il de
in the world’s politica

(A] inevitably substantial

uB[ closely, real

(& essentially, truc
[D] naturally. final

[E] Lhmttcm,ﬂlf‘d

15

Direction (Q. Nos. 54 and 55) : In the
following question, there are blanks each of
which has been numbered. These numbers
are printed below the sentence and against
cach, some words are suggested, one of which
fits the blank appropriately. Find out the
appropriate words.

Scientific psychology recogniscs a simple
truth that no two individuals are alike in this
world even though equality is a fostered
norm of civil society, the truth is that men

(54) unequal in (55)
hues or degrees.
54. |A] will 3] are

IC] is [D] was

[E] Unattempted

55. [A] high (8] total

IC] no Up[ varying
[E] Unattempted

Direction (Q. Nos. 56-58) : In each of the
following questions, out of the given
group of words, choose the mis-spelt

onc.

56. |A] | Coucurence
[B] Conscience

C] Commodore
D] Circumference

[E] Unat tempted

[B] Senescent

57. [{Ar Shrubery
(€] Slaughter

[D}] Sneer
[E] Unattempted

58. Al Qstracism [B] Obnoxious

[« Oblitrate]

[E] Unattempted

[D] Obligatory

[P.T.O
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FIRET VIR WEIRT )
Direction (Q. Nos. 59-61) : In cach of the | Direction (Q. Nos. 62 and 63) : In cach o

following questions, find out which part of the following questions, some sentences are
the sentence has an error. The error may be given which are on the same theme. D'Et‘l-d‘g
idiomatic or grammatical. If the sentence is which sentence is the most _prcferﬂblc With
correct, the answer is ‘No error’ : respect to grammar, meaning and usage,

suitable for a formal writing in English :

62. [A] The teaching staff must take their
lectures regularly when are asked

59. He knows very well / what is by the Principal.

(A)

expected from him / but he is not (&) (8] [B] The teaching staff had taken the
US| d lectures regularly had they known

that the Principal would come to
able to fulfil all the expectations.

know about it.
No error / Unattempted [C] | The teaching staff would have
D] (E] taken lectures regularly had they

known that the Principal would
know about it,

1 [DbMany irregularities were found in
Itis the duty of every right thinking their lectures by the Principal and
60. he could not be disregarded them,

Ciﬁzen j‘ to tl'}" to make the th]!‘: [El Unancmptcd
VAl

world / a happier place to live.

B C
|[B] (C] 63. |A] By June next year, Ajay will be
NG € | Unattempted twenty years working in the office.
(D] [E]
B) B?:ing twenty years completed,
Ajay will be working in this office
till June next,
_ C] Till June wext year, Ajay will work
- ) [ wXt year, Ajay will work
@ The doctor referred  the patient for in the office for twenty vears
> [Kr / o
& - - .d,-
the O.P.D.  without examining 121" By June next year, Ajay will have
MB‘. J been working in the office for
twenty years,
him.  No error Unattempted
Ic] / D] E LU
[E] [E] Unattempted
T-5/5C
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v
on (Q. Nos, 64-66) : In cach of the

fol

]
ch

owing q-.;cﬁgon;. there are six sentences
kcdas 1. " " Qr R. s. Tht‘ Sit]
:ﬂﬂ;“d S, are fixed. Yoy i
pos¢ one of the four alternatives which
qld be the most logical sequence of the

are required to

wo ;
qntences in the passage :

64. Sy

Most of the perishable foods
_ are
shipped by refrigerator ships.

They are placed in the refy;
hold of the ship, TR

Solmr: foods, such as bananas, are
shipped before they get ripe,

As the green bananas are loaded,
a man closely watches the signs
of yellow on them.

The rool temperatures keep the
bananas from getting ripe during
the trip.

Ripe bananas are poor travellers
and even one ripe banana at the
start of the trip can spoil a whole

ship load of fruit. r;:iiig
e

X

(Al

PQRS

D] SRPO

[E}
T'”S—C

Unattempted

17

65. SI. A transformation of conscious-
ness is now beginning to express
itself in the field of theoretical

architecture.

P. In the still theoretical structure,
an attempt is being made to create
a house that is “a domestication of
an ecosystem”.

Q. What is happening in the
architecture is a shift from the
international style of the post-
industrial era to a symbolic
structure,

R. Since architecture is the
collective unconscious made
visible, the architect does not
himself always understand the
full cultural implications of his
OWn Work.

S.  The new form is not a celebration
of power over new materials, buta
celebration of cooperation with the
ecosystem.

S.. The relationship between culture
and nature is changed, for the
architect grows a house like a
garden.

Al PRSQ

L{B]” QPSR

IC] RQSP

ID] SQRP

[E] Unattempted

|P.T.O.
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66. S,. Forecasting the weather has
always been a difficult business.

P. During a period of drought,
streams and rivers dried up, the
cattle died from thirst and the
crops were ruined.

Q. Many different things affect the
weather and we have to study
them carefully to make an
accurate forecast.

R.  Ancient Egyptians had no need of
this— weather in the Nile valley
hardly ever changes.

S. Inecarly times, when there were no
instruments, such as
thermometer or the barometer,
man looked for tell-tale signs in

| the sky.

¢ He made his forecasts by watching
flights of the birds or the way
smoke rose from fire.

[A] PRQS

W

[B] QPR

vel QRPS
'[ [D] SPQR

[E] Unattempted

1.5/5C

18

LA R Ry

ololclelm

iy

67.

o

i

1

cmgqmmo';thg
=

E.?:-l

clZlo—zx=%lozg<lw
% olZx|wz|<|oxI==m»

N AN =00 T — = -

-4
By
o

Find the correct word which can be
made out of the above.

[A] SQVIRREL
(B] ANEMONNE
[ PHENOMENON
[D] DAZZLE

0 mm [E] Unattempted

ARy

O
Direction (Q. Nos. 68 and 69) : Select the
combination of numbers so that the letters/

words arranged accordingly will form a
meaningful word.

g T L B M N &
58 | 3 3 4 s 6
[A] 264531
B 324651

435162
ID] 532461

[E] Unattempted

T PEL OC
1 2 3 456
[A] 143526
fB] 254163
IC] 345126
D] 451236
[E] Unattempted

pat ELMANT

OLIC E
LM &S
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MLLLCLT

. In which poem does the followin

o py Reats occur?

g line

-For ever wilt thou love, and she be fairl
q‘_ﬁf Ode to a Nightingale

|B] Hypenon
mjude on a Grecian Um

[D] Ode on Indolence

[E] Unattempted

71. Who wrote The Harp Of India>
[A] Govind Chunder
iB] Michael Madhusudan Dutt

W;nq L. V. Derozio

D] V.K.Gokak OF;
Unattempted miﬁ

[E] P O}l

72. Who wrote the poem, Rhapsody on a
Windy Night?

u{ Yeats (B] Spenser
[C] Eliot D] Housman

[E] Unattempted

73. Did you come here to buy an umbrella?
Is an example of

|A] first person singular pronoun

[B] possessive pronoun

jL’]/—advcrh of place

D] interjection

[E! Unuttempted

i%, Tick the correct sentence.
(A} | am studying Sociology 1n the
Dellit University.
B! 1 am studying Sociology 8
Delhi University.
‘f—.—"? - +
'-KH' | am studving Sociology

University

t the

nt ni‘lh"

D] 1 am studying Sociology within

Dethi University

El Unattempted
- 19
% 5C

7S.) 1[This is the book 1 - Pronoun, [
il was looking t'ur:| was looking - Verb

| e
‘Whoa-Interjection,
‘amazing - Pronoun

1. Whoa! this is
!amazing

111. My brother come My - Noun,
home late home - Noun,
late - Adjective

Which one of the above is correct?

=

|A] 11 is correct
[B] I is correct
[C] 1, 1l and 11l all are correct
4B 1 is correct
[E] Unattempted

=

76. Change the voice of the following
sentence .

When did you buy these books?

hen were these books bought by
you?

[B] When was these books bought by
you?

[C]| When had these books been
bought by you?
D] When are these books bought by

you?

|[E] Unattempted

77. Change the mode of narration of the
following sentence .

He snid.f‘fl»m}-[ him yesterday.

-
@'ﬂc said that he had met him the
"~ day before.

iB] He ¢aid that he had met him
yesterday,

|C] He said that he met hum vesterday.

(D] He said that he met him the day
before.

[E] Unattempted

|P.TO
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78. The correct order of the format of a

79

80

81

82

T-5/5-C

formal letter is
M address, date, receiver's
address, | subject, body,

subscription

[B] subscription, sender’s address,
date, receiver's address, subject,
body

[C] subject, sender’s address, date,
receiver’s address, subscription,

body

[D] body, sender's address, date,
receiver’s address, subject,
subscription

[E] Unattempted

. What is the antonym of the word
‘gregarious’?

m Antisocial
\B| Glorious
[C] Horrendous
[D] Similar

[E] Unattempted

- What is the synonym of ‘defer'?
[A] Indifferent B Defy
|C] Differ [D] Postpone
[E] Unattempted

. Pick out the antonym of ‘vanity’,

[A] Humility
Mridc

[C] Conceit
[D] Ostentation
[E] Unattempted

- What is the synonym of ‘pious'?

AT “Religion
[B]
c]
ID
IE)

Sympathetic
Afraid
Faithful

Unattempted

20

(T
Directions (Q. Nos. 83 and 84) : Re.,

extract and answer the two questiony
follow :
The glories of our blood and state
Are shadows, not substantial thin
There is no armour against fate;
Death lays his icy hands on kings;
Sceptre and crown must
Must tumble down,

And in the dust be equal made

With the poor crooked scythe and spads

83. The figure of speech in ‘'sceptre
crown' and ‘scythe and spade’ is

[A] personification
(B] irony

Mtemtion

(D] metonymy

E}ﬁ[ﬂ (E] Unattempted
Ray
(a1,

84. The word that means ‘a decorated
is

[A] sceptre

[B] crown
[C] scythe
\‘{}'ﬂ pade

[E] Unattempted
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on (Q. Nos. 85 and 86) : Read the
qjowing extract and answer the two

i
'i,.r,nuns that follow :

e Food Bill 1s still in the works but has
_ovoked a furious debate on the lack of grain
Ltﬂff‘ﬂc facilities, rotting of Brains and
chether they should be distributed free to
+pe hungry TASCS. Waking up to the faeq that
qo food securty programme can be effective
without proper storage, the Government is
sow planning existing warchousing facilities
snd also adding new ones. However, between
iod security and large scale storage. there's
. missing link that needs to be taken note of -
s1orage at the farm level.

gs. A furious debate on the lack of grain
storage faCiHliCS hEE hﬁcn pmvokcd b}’

[[a]] the Food Bill

[B] food security programme
qu/warehausing facilities
ID] None of the above

[E] Unattempted

36. The word in the passage that means
‘amcliorate’ is

iA] decentralise [B] distribute

?Cil’;rovokc [D] upgrade

|[E} Unattempted

87. ldentifv the clause 1n the bold part of
the sentence given below =

The book which has a green cover is
nine.

[A] Noun clause

(] Adjective clause

[ Adverb clause
' Maun clause

I Unanempted

5o

88. Consider the following parts of a
sentence
I. Certain
1. He
Il. Be
V. That
V. Is
V1. Will
VII. Late
The eorrect order of the sentence will
be
[A] LI, 0, IV, V, VI, VII
IV, II, VI, I, V1L, V, 1
[C] VI, VIL IV, V, I, 1L, 1l

ARV 1LV, 1, VI VL

[E] Unattempted

Direction (Q. Nos. 89-91) : Fill up the blanks
with the appropriate words given in [A], [B],
(C). D). [E].
89. | have read stories in Hindi but
only in English.
\‘Im} many, a few |
IB] any, some
[C] alot of, many
[D] some, a few
|[E] Unattempted

90. This is first time [ have visited
_ big city. B
|A] the, an
|C] the, the ID] a,an

|[E] Unattempted

91. Our monthly expenditure by live
hundred rupees when we decided to
buy milk from the milkman.

HAT Mgrew up| [B]
[C] gotup D]
|E] Unattempted

shot up

lifted up

92. Ram is going to creale history
The present perfect form of the above
sentence will be )
kﬂm has created history., %
l |B] Ram wiall create history [=] st
iC] Ram has been creating history
(D] Ram W ill be creating history.

[E] Unattempted
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93. Choosc the correct phrasal verb
sentence .

lJ-TGinnm made out the head or tail
of your statement.

II. He made with an accident.

Ill. Control your emotions and move
on in life.
IV. Please sorted out the problem
areas.
AT |1 B] H
|[C| 1 D] IV

[E] Unattempted

94. Fill up the blank with suitable
preposition given below :
After all, hard work has come to tell
your health.
[A] on
[B] upon
[C] at

\UBT None of the above

|[E] Unattempted

Direction (Q. Nos. 95 and 96) : In cach of
the following questions, four alternatives are

given for the idiom/phrase printed in bold at
the question places. Choose the alternative

which best expresses the meaning of the
idiom/phrasc as your answer.

95. The kind old woman received the
stranger with open arms.
[A] With her arms [ree

Vi1 With warmth |
[C] With restraint

ID] With gratitude
[E] Unattempted

My fnend ran off helter-skelter down
the slope.

4] Unknowingily

MY With minimum speed

96.

Purposcfully
Hurrled!y and in confusion
e Unatiemnted

T-H/5 C

FORRRAR RN

Direction (Q. Nos. 97 and 98) : I -
the following questions, choose frup
given words [A], [B], [C], [D]. [E] below the
sentences, that word which has the s
meaning and can be used 1n the sy,
context as the part given n italics/blank
both the sentences,

97. 1. Priya spends her leisure 1,
reading novels.

1l. Kamal had a lean hDd}' and « ol
manage to squeeze into the L,
space available.

YA spare
|B] relaxed
IC] free
[D] thin
[E] Unattempted

Avinash was the first suspect in
that case.

II. You are in the
[A]
(B]

elCk
D]
[E}

98. |
of life.

major
suffer
counlter
prime
Unattempted

Direction (Q. Nos. 99 and 100) : In cach

the following questions, out of the givos
alternatives, choose the one which can be
substituted for the given words /sentence

99. A person holding a scholarship
university,

Al
(B] Pedant
et Scholan
[ID] Bursar |
[E

Intellectual

Unattempted

100. A person without manners ar polish
(Al
[B] Nawve

Rustic

IC| Boorish

W' Barhanan

B Unattempted
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